




Exam #1


Name:

Fall 2005

Economics 1:


I.
( 4 points ) What effect should each of the following have on the demand for gasoline in a competitive market?  State what happens to demand.  Explain your reasoning in each case and relate it to a demand determinant.


(a)

an increase in the number of cars


(b)
the economy moves into a recession


(c)

an increase in the price of car insurance, taxes, maintenance
(d) consumer expectations of substantial price increases in gasoline
II. ( 4 points )
What effect will each of the following most likely have on the supply of corn in a competitive market?  State what happens to supply.  Explain your reasoning in each case and relate it to a supply determinant.


(a)

the development of an improved corn seed that resists drought conditions


(b)
an increase in the price of soybeans which can also be planted on land used for growing corn


(c)

an increase in government payments for growing corn


(d)
an increase in the price of fertilizer
III. ( 10 points )
Using the schedules given, plot the demand curve and the supply curve on the below graph.  Label the axes and indicate for each axis the units being used to measure price and quantity.  Then answer the questions.
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Quantity demanded

Quantity supplied



Price
(bushels of wheat)
Price
(bushels of wheat)



$4.20
125,000
$4.20
230,000



4.00
150,000
4.00
220,000



3.80
175,000
3.80
210,000



3.60
200,000
3.60
200,000



3.40
225,000
3.40
190,000



3.20
250,000
3.20
180,000



3.00
275,000
3.00
170,000


(a)
Give the equilibrium price and quantity for wheat.


(b)
Indicate the equilibrium price and quantity on the graph by drawing lines from the intersection of the supply and demand curves to the price and quantity axes.


(c)
If the Federal government decided to support the price of wheat at $4.00 per bushel, tell whether there would be a surplus or shortage and how much it would be.


(d)
Demonstrate your answer to part (c) on your graph being sure to label the quantity you designated as the shortage or surplus.

IV.
( 8 points )
Given the products below and the events that affect them, indicate what happens to demand, supply, equilibrium quantity, and equilibrium price in a competitive market.  Identify the determinant of demand and supply that causes the shifts.


(a)

Calculators.  More schools require students to buy and use calculators; improved productivity shortens the time it takes to make calculators.


(b)
Gasoline.  Oil production declines due to a crisis in the Middle East; people take more car vacations and drive more.


(c)

New homes.  The average incomes fall as the economy moves into recession; the productivity of home construction workers and builders increases.
(d) Tobacco.  The government cut its subsidy to tobacco farmers; more people quit smoking.
V

Give three explanations for the law of demand ( 4 points ).

